2011-2012 6TH GRADE CONTEST SOLUTIONS

Answers

26.

Each chemical can be paired with 6 other

chemicals for a total of 6 X 7 =42 pairs.
However, each pair has been counted
twice. So divide by 2: 42+2 = 21.

A)14 B)21 C42 D)49

27.

The sum of the digits is 100, which is not
divisible by 3 or any multiple of 3.

A) 4 B) 6 C)8  D)20

28.

Multiply the three smallest primes: 2 x 3 X 5 =30,
whose 8 divisors are 1, 2, 3, 5, 6, 10, 15, and 30.

A) 3 B)5 Q)6 D) 8

26.

27.

28.

29.

(22000 + 22000) + (33000 + 33000 4 33000) = 2%22000 4 3533000 = 22001 4 33001
A) 42000 4 93000 B) 24000 4 39000 Q) 42001 4 93002 D) 22001 4 33001

29.

30.

I drop my nickelsatOm,5m, 10m, ..., 90 m, 95 m, and 100 m. In
all, I drop 21 nickels. Finally, the value of all 21 of these nickels is

21x5¢ = $1.05.
A) $0.95 B) $1.00 C) $1.05 D) $1.10

30.

31.

Since 312 =961 < 1000 < 322 = 1024, the squaresof 1,2, 3, ..., 31 are
less than 1000. Of these 31 squares, 16 are odd and 15 are even.

A) 15 B) 16 C) 30 D) 31

31.

32.

One-half of one-quarter is one-eighth. The area of one-eighth of a square
is 8; so the total area is 64, the side-length is 8, and the perimeter is 32.

A) 16 B) 32 C) 48 D) 64

32.

33.

(4+8+12+.. +400)~(3+6+9+.. +300) = (4-3)+(8-6)+(12-9)+. . +(400-300) =
14243+...+100 = (1+100)+(2+99)+...+(50+51) = 50x101 = 5050.

A) 100 B) 400 C) 1200 D) 5050

33.

34.

Write ratios equivalent to 5:3 until a trade
yields an 8:7 ratio; 5:3 = 10:6 = 15:9 = 20:12.
With 20 clubs and 12 skins, a trade of 4
clubs for 2 skins leaves 16 clubs and 14
skins, which is a 16:14 = 8.7 ratio.

A8 B9 10 D12

35.

The 1st 9 remainders are1,2,3,...,8,0.
They repeat 100 times until reaching 999.
That’s a total of 100x36. Add 1 for 1000.

A) 3600 B) 3601 C) 4500 D) 4501 - 7o

The end of the contest (2 ]} 6
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Contest Information

m Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answer Column to
the right of each question).

m Scores Please remember that this is a contest, and not a test—there is no

“passing” or “failing” score. Few students score as high as 28 points
(80% correct); students with half that, 14 points, deserve commendation!

m Answers and Rating Scales Turn to page 148 for the letter answers
to each question and the rating scale for this contest.
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